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There are nine persons A,B,C,D,E,F, G, H
and K live on nine different floors of a
building where ground floor is numbered as
floorl, above it is floor2 and so on till the
topmost floor is numbered as floor9. Only
one person lives on each of the floor. There
are three persons living between Eand F. E
lives on one of the odd floors below H. C
lives on one of the even floors below the
floor on which E lives. A Lives immediately
below C. G lives on the top floor. There are
two persons living between B and E. H lives
immediately above K. K lives on the 6th
floor. D lives just above the floor on which F
lives.




h
e

—

SlRmE R

.ﬁ

m

There are nine persons A,B,C,D,E,F, G, H
and K live on nine different floors of a
building where ground floor is numbered as
floorl, above it is floor2 and so on till the
topmost floor is numbered as floor9. Only
one person lives on each of the roor.Qhere
are three persons living between E and E.)E
lives on one of the odd floors below H. C
lives on one of the even floors below the
floor on which E Iives.@ Lives immediately
below C. G lives on the top floor. There are
two persons living between B and E. H lives
immediately above K. K lives on the 6th
roor.@ lives just above the floor on which F
lives.
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Who lives on floor number 5?
(a) G (b) B (cVE (d) C (e) None of the above

Who lives immediately below C?
(a)/A (b) B (c) D (d) C (€) None s true

Floor Person
9 G
8 B
7 H
6 K
5 E
4 C
3 A
2 D
1 F

Who lives on the odd number floor?
(a) B (b) K w E (d) C (e) None of the
above

Who livesyjust above K?
(a) G(b) H (c) D (d) F (e) None of the above

Who lives at the bottom floor?
(a) B(bJF (c) K (d) H (e) None of the above




(a) If only conclusion I follows. Statement:
(b) If only conclusion II follows. Only a few train is bus.
(c) If either conclusion I or I follows. No bus is car. Some car is plane.

‘ i lusions:
d) If neither conclusion I nor II follows. SO"C
= ¢ ! All plane can be car..”

(e) If both conclusions I and II follow. Il Al bus can be trairg./‘

Statement:
Some nail is paint.

d) Only a few paint is cream.
No cream is face.

Conclusions:

l. Some face is nail.
1. All paint can be face. (7<
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Eight persons A, B, C, D, E, F, G and H are sitting in a
linear row. Some of them face north and some of
them face south. Not more than two persons sit
adjacent face same direction.

C sits immediate right of E. G sits one of the extreme
ends of the row. Two persons sit between G and H. F
sits third to the left of H. immediate neighbor of H
face opposite direction to each other. Three persons
sit between F and E. C face north direction. A and D
sits immediate neighbor to each other. Only one
person sits between D and B. F face north direction.
The persons sit at extreme ends of the row face
opposite direction to each other. G faces same
direction of H
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/Eight persons A, B, C, D, E, F, G and H are sitting
in a linear row. Some of them face north and
some of them face south.@ot more than two
persons sit adjacent face same directio‘p

sits immediate right of E. (G sits one of the
extreme ends of the row. Two persons sit
between G and H. F sits third to the left of H.
immediate neighbor of H face opposite direction
to each other@ree persons sit between F and
E. C face north direction. A and D sits immediate
neighbor to each other. Only one person sits
between D and B. F face north direction. The
persons sit at extreme ends of the row face
opposite direction to each other. G faces same
direction of H
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Four of the following five are alike in certain way based from a
group, find the one that does not belong to that group?

R

(c) E
(d) H
(e)D

Who among the following sits immediate left of A?
(a) E

(b) The one who sits immediate left of C

(c) D

(d) The one who sits second to left of D
\M\e of these

How many persons sit between D and G?
(a) One

(b) T
Lz{fﬁ;cr)e than three

(d) Three
(e) None
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How many persons face south direction?
(a) Two

(b) Five

(c) Three

(d) One

\(%ur

Which of the following pair sit at extreme end of the row?
(a) D, F
, G
(c)C,H
(d) D, C
(e) None of these

InN




‘Black Brown Pink’ is written as 'kl nw te ip’,
Red Yellow Orange' is written as ‘ip er ol gn’,

‘Orange Brown Magenta Pink’is written as ‘gn n_wte’ /sr
0rey Black Orange Green' Is written as ‘'yg kl srgn”. /(\
- M

What may be the code for ‘Gre magent nta’ in the given code language?

’—

(@) nw ip
d ¢ (b) er sr

(c) srip
9 ng
(e) None of these

What is the code for ‘White’ in the given code language?
e ~

(b) nw

(c) kI

(d) er

(e) None of these




'B|gchiteﬂn,k',js written as 'kl nw te ip),

'White Red Yellow Orange' is written as ‘ip er ol gﬁ',

'OroQgMogentaflmJ’ Is written as ’g{n nwng te'

'Grey Black Orange Green' is written as ‘yg ki sr gn &

What is the code for ‘Brown’ in the given code language?

(a) nw
(b) ip
[ (c) te
E C, (d) ng
e 't be determined

What is the word for “g’n’ in the given code language?
(a) Pink
(b) Blde
\ Orange

(d) Green

(e) None of these




Seven personsi.e.T,U,V, W, X, Y and Z are in three generation of the family. X is daughter in law of T, who
is grandfather of Z. Y is unmarried. W is Father in law of U. V has only one child. V is grandmother of Y, who
is brother in law of U. W has only one son. V is wife of T. HId sgfea rgTa T,UVW,X, Y 3R z9RaR

# ey DRt § X, TH T
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How is V related to W?

(a) pather
,(ab’){/lé‘other b b

—

(c) Brother

(d) Sister
\ ) (e;) can’t be determined
P e—2E—20 i
V& Y5y
+)
Y— >0

How is U related to X?

(a) daughter
Son in law

—_(c) brother

(d) Sister in law
(e) None of these

If F is sibling of X then how is Y related to F?

(a) Brother
(b) daughter in law

(c) Nigee
%ew

(e) None of these




How many pairs of letters are there in the word “TECHNOLOGY” each of which have as many
letters between them in the word as they have between them in the English alphabetical
series?

geC “TECHNOLOGY” H 31&RT & U fohdet oA &, OaH ¥ YA+ & i 3d+ &
3eTT & order 3rs aotATer & 39 & &7

(a) Two

(b) Ope

(Firee

(d) More than three
(e) None




Anu is 14th from the left end of a row of 44 students and Renu is 20th from the right end in the
same row. How many students are there between them in the row?

3 44 BHEl I TF UfFd F 90 OR ¥ 143 ¥ W § 3R Yo7 @A ofFT # q@ oR
#20&me%|qﬁ?rﬁmaﬁamﬁﬁweﬁ%?

= a1 @

+H 4
(b) 13 D~ m Lhad 20T

(c) 14 ‘i" dbal (K46, i = T
(d) 11 = 44 - (1ut20)
(e) 15 =44y-3y
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(Six persons P, Q, R, S, T, and U are born in
same month and date of six different year
viz. 1978, 1982, 1990, 1995, 2000, and
2006 but not necessarily in the same
order. (All the ages will be calculated on
base year 2021). All persons are related to
each other. T is the father of the one
whose age is 15 years. The difference
between T’s age and P’s age is the lowest.
P is the mother of U, who is a male. Q is
married to the sister of P, whose age is 39
years. S is the sister-in-law of R. S is older
than R but younger than Q. There are only
two females in the family. U is the

youngest family member.
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Six persons P, Q, R, S, T, and U are born in
same month and date of six different year
viz. 1978, 1982, 1990, 1995, 2000, and
2006 but not necessarily in the same
order. (All the ages will be calculated on
base year 2021). All persons are related to
each other(T is the father of the one
whose age is 15 years. The difference
between T’s age and P’s age is the lowest.
P is the mother of U, who is a male. Q is
married to the sister of P, whose age is 39
years(S is the sister-in-law of R. S is older
than R but younger than Q. There are only
\two females in the family. U is the
youngest family member.




How is S related to the one whose age is 15 years?
(a) Paternal Uncle
(b) Maternal Uncle
aternal Aunt
(d) Paternal Aunt
(e) None of these

Years | Age | Persons
1978 | 43 | T
1982 |39 | P
1990 | 31 | Q
1995 | 26 | S
2000121 | R
2006 115 | U

Who was born in 1990?
(@) S
(b) R
Q
(d)T
(e) Either (b) or (c)

What is the sum of the ages of S and R?
(a) 52 years

(b) 5Z,years
(g7 years
d) 60 years

(e) None of these




?—ERTF_&EL\ Persons Which of the following information is correct?
1978 |43 | T %)\Iﬁwas born in 1995
1982 1 39 1P (b) R is the brother of Q
1990 31+40Q @%th (a) and (b)
1995 | 26 g (d) UNsthesonof Pand T
2000 [ 21 |R {e)Bgeh (b) and (d)
2006 [ 15 | U -

Four of the following five are alike in a certain way based on a
group, which of the following does not belong to that group?

(a) T- 1978
(b) P -1982

(C) Q=990
Mgs
e) U- 2006




Elements |5 |A|l6|(2(B|(1|(C |8 |[D|3|E|I |9V

Code N|l&|[#|+|* Al @ |3 |! |=|/]=]|=<

(i). If the first number is even and last letter is vowel, then the codes for the first and the last digits
are to be interchanged.

(ii). If the first as well as the last letter is consonant, then both are to be coded by the code for the
fourth letter.

(iii). If the first as well as the last number is odd, then both are to be coded by the code for the last
number.

(iv). If the first number is odd and last letter is consonant, then both are to be coded by the code
for the first number.

SASDc 6-9.//;A8DCBQ

(a) >&@5*%>
>4 @ BLA> | (bneesw
(c) >&@S5%*N
>&@S%*>
(e) None of these




Elements | 5 | Al | 2| B|(1|C |8 |D|3|E|Il|9|V

Code N|&|#|+|* Al | @[S |! |=]/]|=]|=

(i). If the first number is even and last letter is vowel, then the codes for the first and the last digits
are to be interchanged.

(ii). If the first as well as the last letter is consonant, then both are to be coded by the code for the
fourth letter.

(iii). If the first as well as the last number is odd, then both are to be coded by the code for the last
number.

(iv). If the first number is odd and last letter is consonant, then both are to be coded by the code
for the first number.

= |AL E31VI8D
’ /@ $ (a) Sla</ @5
(b) =lA/<@S
=A</ @S
(d) =lA</@!

(e) None of these




Elements | 5 | Al | 2| B|(1|C |8 |D|3|E|Il|9|V

Code N|&|#|+|* Al | @[S |! |=]/]|=]|=

(i). If the first number is even and last letter is vowel, then the codes for the first and the last digits
are to be interchanged.

(ii). If the first as well as the last letter is consonant, then both are to be coded by the code for the
fourth letter.

(iii). If the first as well as the last number is odd, then both are to be coded by the code for the last
number.

(iv). If the first number is odd and last letter is consonant, then both are to be coded by the code
for the first number.
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(a) %>&<I+<
\éﬁf:>&<!+<

(c) <<&<!+<

(d) %>&<!+*
(e) None of these




Elements |5 |A|l6|(2(B|(1|(C |8 |[D|3|E|I |9V

Code N|l&|[#|+|* Al @ |3 |! |=|/]=]|=<

(i). If the first number is even and last letter is vowel, then the codes for the first and the last digits
are to be interchanged.

(ii). If the first as well as the last letter is consonant, then both are to be coded by the code for the
fourth letter.

(iii). If the first as well as the last number is odd, then both are to be coded by the code for the last
number.

(iv). If the first number is odd and last letter is consonant, then both are to be coded by the code
for the first number.

C N
:AJ>$ A/ @ 8A9D1IE
(a) =&S>A/@
(b) =&>SA=
(c) @&>5A=
Z&>SA/@
(e) None of these




Elements |5 |A|l6|(2(B|(1|(C |8 |[D|3|E|I |9V

Code N|l&|[#|+|* Al @ |3 |! |=|/]=]|=<

(i). If the first number is even and last letter is vowel, then the codes for the first and the last digits

are to be interchanged.

(ii). If the first as well as the last letter is consonant, then both are to be coded by the code for the
fourth letter.

(iii). If the first as well as the last number is odd, then both are to be coded by the code for the last

number.
—fthe first number is Qdd and last letter is consonant, then both are to be coded by the code

for the first number. S
!X—$' @4 Y, ’ 3BDSACV
(a) I*S@%&!
]D ' _ga A’M \M@&%!
— — (c) 1*S*&%!
Mon —S ol (d) 1*#@&%!
(e) None of these
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Eight persons A, B, C, D, E, F, G and H live on different
floors of the same building having eight floors (the
ground floor is numbered as the first floor while the
topmost floor is numbered as the eighth floor). They
were born on the same day of the same month but in
different years. All their ages are to be considered
from the base year i.e. 2018. G is 42 years old and
lives on an odd numbered floor below the 5th floor. B
is 20 younger than the one who lives on 2nd floor.
Only three persons live between G and the one who
was born in 1984. F lives on 4th floor and he is 13
years old. A lives on even numbered floor. There are
three floors in between C and D who lives on an even
numbered floor. H is 34 years old and lives on an odd
numbered floor. The one who is 28 years old lives
immediate above the floor on which E lives. The one
who lives on ground floor is 5 years older than the
one who lives on 4th floor. D was born in 1996. B
lives above the floor on which C lives. One person
was born in 1962.




Eight persons A, B, C, D, E, F, G and H live on different
floors of the same building having eight floors (the
ground floor is numbered as the first floor while the
topmost floor is numbered as the eighth floor). They
were born on the same day of the same month but in
different years. All their ages are to be considered
from the base year i.e. 2018. G is 42 years old and
lives on an odd numbered floor below the 5th floor. B
is 20 younger than the one who lives on 2nd floor.
Only three persons live between G and the one who
was born in 1984. F lives on 4th floor and he is 13
years old. A lives on even numbered floor. There are
three floors in between C and D who lives on an even
numbered floor. H is 34 years old and lives on an odd
numbered floor. The one who is 28 years old lives
immediate above the floor on which E lives. The one
who lives on ground floor is 5 years older than the
one who lives on 4th floor. D was born in 1996. B
lives above the floor on which C lives. One person
was born in 1962.




